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𝟓𝟎 𝐦𝐢/𝐡

𝟐𝟎 𝐟𝐭

𝟐 

𝟑 𝟒 
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 𝒓 = 𝟔𝟎 𝐦𝐍 𝟒𝟓° 𝐄

𝟏𝟐𝟎𝐍

𝟐𝟓°

 

𝟓 𝟏𝟎𝟎𝟎 𝐟𝐭𝟒𝟓°

𝟐𝟎𝟎 𝐟𝐭
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𝑨𝑩⃑⃑⃑⃑⃑⃑ 

𝑨 (𝟐 , 𝟒) , 𝑩 (−𝟏 , 𝟑) 

𝐯 = 〈𝟐 , −𝟏〉 , 𝐰 = 〈−𝟑 , 𝟓〉 

𝐰 − 𝟐𝐯

𝟑𝐯 

𝐮𝐯

𝐯 = 〈−𝟑 , 𝟔〉

|𝐯| = 𝟖 , 𝜽 = 𝟏𝟑𝟐° 

𝑫𝑬⃑⃑⃑⃑⃑⃑ 

𝐢 , 𝐣

𝑫(𝟒 , −𝟓) , 𝑬(𝟔 ,−𝟕)
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𝐮 , 𝐯

𝐮 = 〈𝟑 , 𝟔〉 , 𝐯 = 〈−𝟒 , 𝟐〉

𝜽𝐮 , 𝐯 

𝐮 = 〈−𝟏 , 𝟗〉 , 𝐯 = 〈𝟑 , 𝟏𝟐〉

𝐀 , 𝐁〈𝟑𝟑 , 𝟏𝟐〉𝐀〈𝟓𝟓 , 𝟒〉

𝐁

𝟏𝟎𝟎 𝐍𝟑𝟎°

𝟔 𝐦
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(𝟐 , 𝟎 , −𝟓) 

〈𝟒 , 𝟕 , 𝟔〉

𝑨𝑩⃑⃑⃑⃑⃑⃑ 

𝑨 (𝟐 , 𝟏 , 𝟑) , 𝑩 (−𝟒 , 𝟓 , 𝟕 ) 

(𝟑 , 𝟒 , −𝟗 ) , (−𝟒 , 𝟕 , 𝟏)

𝟒
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𝐮 , 𝐯

𝐮 = 〈−𝟐 , 𝟎 , 𝟏 〉 , 𝐯 = 〈𝟑 , 𝟐, −𝟑〉

𝜽𝐮 , 𝐯 

𝐮 = 〈𝟏 , −𝟐, 𝟏〉 , 𝐯 = 〈𝟎 , 𝟑 , −𝟐〉

𝐮 × 𝐯

𝐮 = 〈𝟏 , 𝟑, 𝟒 〉 , 𝐯 = 〈−𝟏, 𝟎, −𝟏〉

𝟓 

〈𝟑 , −𝟐 , 𝟗 〉 , 〈𝟔 , −𝟐,−𝟕 〉 , 〈−𝟖 , −𝟓,−𝟐 〉 

𝐮 , 𝐯

𝐮 = 〈𝟗 , 𝟒 , 𝟐 〉 , 𝐯 = 〈𝟔 ,−𝟒 , 𝟐〉
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 ا ح ة ي و ا س ت م  

 ل ق ف ل م ه س ا إ

 م ي ض ل و ط س و ز

 ح ق ا ي ع ب ر ا ا

 ص ي ء ل ل و ج ح ح

 ل م ه ج ت م ا د ة

 ة ن ا د م ا ع ت م
 

ي  ؟؟ 
حث  عن   اب 

 o  

o 𝐮 

o  

o  

o  

o 𝐍 𝟒𝟓° 𝐄 

o 𝟎𝟑𝟎° 

o  

o 𝐚 = 〈𝟐 . 𝟑〉√𝟏𝟑 

o  

o (𝟐 , 𝟒 , 𝟓) 

o  
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𝒓 = 𝟑
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(−𝟏 ,−𝟑𝟎°)

(𝟐 , 𝟏𝟐𝟎°)

−𝟑𝟔𝟎° ≤ 𝜽 ≤ 𝟑𝟔𝟎°

(−𝟒 , 𝟖𝟓°)

(𝟏 , 𝟏𝟎𝟓°)
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𝒚 = 𝟑

𝒓 𝐜𝐨𝐬 𝜽 = 𝟓
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(𝟐 , −𝟑)
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𝟐 + 𝟑𝒊

𝟐 + 𝟐√𝟑 𝒊 

𝟒(𝐜𝐨𝐬
𝟑𝛑

𝟒
+ 𝒊 𝐬𝐢𝐧

𝟑𝛑

𝟒
)

𝟒 𝟓 

𝟐 (𝐜𝐨𝐬
𝛑

𝟔
+ 𝒊 𝐬𝐢𝐧

𝛑

𝟔
) . 𝟓 (𝐜𝐨𝐬

𝛑

𝟑
+ 𝒊 𝐬𝐢𝐧

𝛑

𝟑
) 

[𝟐 (𝐜𝐨𝐬
𝛑

𝟒
+ 𝒊 𝐬𝐢𝐧

𝛑

𝟒
)]

𝟓

𝟐√𝟐(𝐜𝐨𝐬 𝟒𝟓° + 𝒊 𝐬𝐢𝐧𝟒𝟓°)

=

=

𝟐√𝟐(𝐜𝐨𝐬 𝟒𝟓° + 𝒊 𝐬𝐢𝐧𝟒𝟓°)

=
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ي  ؟؟ 
حث  عن   اب 

 o  ...................... 𝟕)موقعه, 𝟑𝟑𝟎°)  

o  𝟏)....................... موقعه , 𝟑𝟔𝟎°) 

o  𝟒)الــــ ................... موقعها , 𝟑𝟑𝟎°) 

o   𝟑)الــ ................... موقعها , 𝟔𝟎°) 

o   𝟒)رالي .................. موقعه , 𝟏𝟐𝟎°) 

o   𝟒)........................ موقعه , 𝟏𝟖𝟎°) 

o  𝟖)....................... موقعه , 𝟏𝟓𝟎°) 

o   𝟓)................. التاريخية موقعها , 𝟐𝟒𝟎°) 
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  الس 
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 ق ر ء ا ر ث إ

 د ك م ص م ل ا

 ي ة ي ع ر د ا

 ة د م و ي ن ج

 ا ر ا ك ا د د

 ا ل ع ل ا ر ة
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𝟏𝟐𝟎° 
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𝟐𝟏𝟎° 

𝟐𝟒𝟎° 

𝟐𝟕𝟎° 

𝟑𝟎𝟎° 

𝟑𝟑𝟎° 

𝟑𝟔𝟎° 
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𝟐 

 𝟑𝟎𝟎𝟏𝟓𝟎

𝟏𝟎𝟎𝟎
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𝟏𝟐. 𝟏 , 𝟏𝟒. 𝟗 , 𝟔. 𝟕 , 𝟏𝟎  , 𝟏𝟐. 𝟖 , 𝟏𝟒 , 𝟏𝟖  

𝟐𝟗 , 𝟑𝟔 , 𝟏𝟒 , 𝟗𝟗 , 𝟏𝟔 , 𝟏𝟓 , 𝟏𝟐 , 𝟑𝟎 

𝟕𝟕. 𝟗 , 𝟏𝟎𝟏 , 𝟕𝟖. 𝟗 , 𝟏𝟎𝟓 , 𝟒. 𝟐 , 𝟏𝟏𝟎 , 𝟖𝟕. 𝟗 

𝟓𝟔𝟏𝟒%
𝟐 
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𝟓

(𝐏𝐇)𝟑𝟐 𝟐 

 

𝟑 (𝐁) , (𝐀)

𝟏𝟐𝟑𝟒

𝐀

𝟒  

 

𝟒 𝟏𝟗𝟒

𝟐𝟏𝟔𝟐
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𝟒𝟓 

𝑷 (    )

𝟐 𝟐𝟖

𝟏𝟎𝟏𝟖

𝟒𝟒

𝟑 

𝟑 
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𝟏𝟑𝟎  𝟕𝟎

𝟏𝟎𝟎

𝟏𝟓

𝟖𝟎 𝟏𝟑𝟎

https://t.me/RAFAH_Secondary
https://twitter.com/nada_mn_?s=12


 

  

 

 

 

𝟏 

𝟐

 

22 
@nada_mn_ 

𝒏 , 𝒑 , 𝒒 

𝟏𝟓 𝐗

𝟐𝟎𝐗 

𝟐
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𝑷 (    )
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 ل س ل ش ف  ت ت ش ت ر

 ا ح ع ي ئ ا ص ح إ ت
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 ظ ة ن ط و  ر ش م ا ا

 ة د ة ي ئ ا و  ش ع ط
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o  

o  
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o  

o 𝑩 𝑨  

o  

o  

o X 𝒏  
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𝒚 = 𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟏

𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟑+

𝒇(𝒙)

𝒚 = 𝒇(𝒙)

𝐥𝐢𝐦
𝒙→−𝟏

𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟏+

𝒇(𝒙)

𝒚 = 𝒇(𝒙)

𝐥𝐢𝐦
𝒙→−𝟏

𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟐+

𝒇(𝒙)

𝒚 = 𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟏

𝒇(𝒙)

𝐥𝐢𝐦
𝒙→𝟐−

𝒇(𝒙)

𝒇(−𝟐)

𝟒
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𝐥𝐢𝐦
𝒙→𝟑

 (𝒙𝟐 + 𝟑𝒙 − 𝟖)

𝐥𝐢𝐦
𝒙→−𝟔

 
𝒙𝟐 − 𝟑𝟔

𝒙 + 𝟔

𝐥𝐢𝐦
𝒙→𝟒

 √𝒙𝟐 − 𝟐𝒙 + 𝟏

𝐥𝐢𝐦
𝒙→𝟑

 
𝒙𝟐

𝟐 + √𝒙 − 𝟑

𝐥𝐢𝐦
𝒙→−∞

 
𝒙𝟓 − 𝟖𝒙𝟐

𝟒𝒙𝟓 + 𝟑𝒙

𝐥𝐢𝐦
𝒙→∞

 
𝟐𝒙𝟑 − 𝟒𝒙 + 𝟏

𝟓𝒙𝟒 − 𝟐𝒙𝟐

𝐥𝐢𝐦
𝒙→∞

 (𝟐 − 𝟔𝒙 + 𝟓𝒙𝟑)

𝐥𝐢𝐦
𝒙→−∞

 (𝟔𝒙𝟕 − 𝒙𝟐)
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𝒚 = 𝒙𝟐 − 𝒙  , (𝟑 , 𝟔)

𝒚 = −𝟐𝒙 + 𝟏 

𝒉(𝒕)𝒕 𝟑 

𝒉(𝒕) = 𝟑𝟎𝟎 − 𝟏𝟔𝒕𝟐 , 𝒕 = 𝟐

𝟒𝒉(𝒕)𝒗(𝒕)

𝒉(𝒕) = 𝟏𝟕𝒕𝟐 + 𝟖
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𝒇(𝒙) = 𝒙𝟐 − 𝟒𝒙 + 𝟕 , 𝒙 = 𝟐 , −𝟑

𝒑(𝒙) = −𝟒𝒙𝟓 + 𝟔𝒙𝟑 − 𝟓𝒙𝟐

𝒇(𝒙) = √𝒙𝟔𝟓

𝒉(𝒙) = −
𝟑

𝒙𝟔

𝒇(𝒙) = 𝒙𝟐(𝒙𝟑 + 𝟑𝒙𝟐)
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𝒇(𝒙)𝒙

𝒇(𝒙) = 𝟏 + 𝒙𝟐 

[𝟏 , 𝟔] 

𝒙

∫𝒙𝟐 𝒅𝒙

𝟐

𝟎

𝟐 
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𝒇(𝒙) = 𝟒𝒙𝟑

𝒇(𝒙) = 𝟐𝒙 + 𝟑 

𝟐 

∫𝟖 𝒅𝒙

∫(𝟐𝒙𝟑 + 𝟔𝒙)  𝒅𝒙 

∫𝟐𝒙  𝒅𝒙

𝟓

𝟐

∫ (−𝟒𝒙𝟑 − 𝟑𝒙) 𝒅𝒙

−𝟏

−𝟓

𝟑 ℓ𝒘 = ∫ 𝟐𝒙 𝒅𝒙
𝓵

𝟎

𝟔 𝐢𝐧 
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o  

o 
(𝒙+𝟒)𝟐

𝟗
−

(𝒚+𝟑)𝟐

𝟒
= 𝟏

o 
𝒙𝟐

𝟒𝟗
+

𝒚𝟐

𝟑𝟎
= 𝟏

o (𝒚 − 𝟑)𝟐 = 𝟐(𝒙 + 𝟔) 

o (𝒙 − 𝒉)𝟐 + (𝒚 − 𝒌)𝟐 = 𝒓𝟐 

o 𝒆 

o 𝒄  

o 𝒂 

o  

o  

o  

o 𝒚 − 𝒌 = ±
𝒃

𝒂
(𝒙 − 𝒉) 

 

o  

o 

o 

o  

o  

o   

o ∫ 𝒇(𝒙) 𝒅𝒙
𝒃

𝒂
𝒂 

o  

o  

o  
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